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QUESTION 1

Which statement is true about smallfile tablespaces?

A. Extent location metadata is stored in the data dictionary by default.

B. The number of data files is constrained only by the size of the storage array.

C. Maximum file size can be set to unlimited only if the logical volume manager supports striping.
D. Segments can span multiple tablespaces.

E. Segments can span multiple data files.

Correct Answer: E

Reference: https://docs.oracle.com/database/121/CNCPT/logical.htm

QUESTION 2
You execute this command:
CREATE SMALILFILE TABIESPACE sales

DATAFILE ‘/ull/app/oracle/sales0l.dbf’ SIZE 5G
SEGMENT SPACE MANAGEMENT AUTO;

Which two statements are true about the SALES tablespace? (Choose two.)

A. The FREELISTS and FREELIST GROUPS parameters are used to manage extent allocation.
B. It is read-only by default.

C. DML operations performed on objects in this tablespace are not logged by default.

D. It uses the default blocksize used at database creation.

E. It is a locally managed tablespace.

F. It is offline by default.

Correct Answer: AD

QUESTION 3

Which two are prerequisites for shrinking a table online?
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A. It must have a unique key constraint.

B. It must not have any referential integrity constraints.

C. It must not have any DML triggers.

D. It must be in a tablespace that uses Automatic Segment Space Management (ASSM) .
E. It must have row movement enabled.

Correct Answer: AB

QUESTION 4

Which three are true about Oracle Database backup taken with RMAN?
A. A whole backup contains all data blocks of all data files.

B. RMAN cannot backup REDO logs.

C. A full backup contains all data blocks from one or more data files.

D. An RMAN image copy can be written only to disk.

E. Only offline backup are consistent.

F. RMAN always includes the control file in a backup.

Correct Answer: CDF

QUESTION 5

Which two tasks does DBUA perform by default? (Choose two.)

A. setting user tablespaces to "read only" before starting the upgrade

B. adding more data files if there is insufficient disk space for the SYSTEM tablespace during the upgrade
C. running the Pre-Upgrade information tool

D. starting the source database instance if not started

E. enabling flashback in the source database if not enabled

Correct Answer: AC
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